Advanced Algebra Name

Garrity Date

Linear Equations/Slope Hour

1. Write the equation of a line in standard form:

2. Write the equation of a line in point-slope form:

3. Write the equation of a line in slope-intercept form:

3.0 S\o‘ae WA S e

4, Write the equation of a line in slope-intercept form if the slope is -5 and y intercept
s 7.

5. Write the equation of a line in point-slope form that passes through the point ( -1,2 )
and has a slope of 3.

6. Write the equation of a line in standard form passing through point (-4,3 ) with a
slope of 2.

7. Write the equation of a line in slope-intercept form whose slope is —4 and y intercept
is 0.

8. Write in slope-intercept form the equation of a line passing through the point ( 5,-2 )
and a slope of 4.



9. Given the points: (-4,3 )and (-1,-6)

a) Find the slope:
b) Write in point-slope form:
c) Write in slope-intercept form:

d) Write in standard form:

10. Determine whether the two lines are perpendicular. Show work to support your
answer.

a) y=—%x+5 and y=-4x-2

b) y=—35—x+6 and y=—§x—6

11. Aline has a slope of %, what is the slope of the line that is:

a) perpendicular

b) parallel

12. Find the x and the y intercept of the line: -2x + 7y =14

x intercept: <[\

P i)

y intercept: )
O

13. Find the slope of the line passing through the points: (-3,5) and ( -3,-1)




For #s 14-21, tell whether the equation is in slope-intercept form, standard form,
point-slope form, or none.

14, y+2= ———;—(x-—S)

15 2x+3y-6=0

16. y—7=%~x+2

17, y=2x-5

18. 3x—y=2

19. 4y=2x-1

20. y—=10=3(x+7)

21, x-y=-1

For #s 22-28, give the slope (m) and the y-intercept (b)
( You may have to rewrite the equation)

22. y=%x—4 m= b=__
23. 5x+2y=10 m= b=
24, y=-2 m= b=
25. y=-x+6 m= b=
1 =
26. y~—5=z(x+12) m= b=
27. x=3 m= b=

28 y=—x m= b=




For # 29-30, give the point and the slope:
29. y=3= -ls-(x +2) slope: . point:

30, y—-1=-3(x—4) slope: point:

Graph the following equation. (use any method you wish )

31. Sx+4y=20 X \{ 32. y=~——§—x+4

O

33. x=-4 34, y=x-3

35. y=2




36. Graph the two lines in the same coordinate plane: y = %x +1 and y= —-%x -2

Are the lines parallel, perpendicular or neither?

Solve the following equations:

37, 5x+3(x+4)=28 38, 11x—21=17-8x

39, 6(x+3)+3x=3(x-2) 40. 20 - 3x=2x
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Advanced Algebra Name

Date Hour
| Order of Operations

Step 1: Do operations that occur 1+7%(5-3)

within the grouping symbols
Step 2: Evaluate Powers 1+7*e(2)
Step 3: Do multiplication and division 1+4902

from left to right
Step 4: Do subtraction and addition from 1+98

left to right

Practice Problems:

1. 3-2e5 2. 4e(=3") . 3. —(-3+5)
4. 21+ (22 +3)-10 5. 4e(=5%) 6.12+3~4
7. 1+(5*-10)+5 8. (-6)° 9. -2°

10. (6-5)° +14+(2+5)



Knowing Properties
Properties of Addition and Multiplication:

Addition:

Commutative property: a+b=Db+a
Example: 3 + 5 =5+ 3

Associative property: (a +b) +c=a+ (b+ c)
Example: (4 + 2) + 1 =4 + (2 + 1)

Inverse property: a+ (-a) =0
Example: 1 + (-1) =0

Identity property: a+ 0=a 0+a=a
Example: 5 + 0 = 5, 0D+ 8=56

Closure: a + b is a real number
Example: 2 + 1 = 3 is a real number

Multiplication:

Conmmutative property: ab = ba
Example: (4e3) = (3e4)

Associative property: (ab) ¢ = al(bc)

Example: (2e1)4 = 2(1 el)

Identity property: ael=a 1lea=a
Example: 7 ¢ 1 =7, 1 7 = 7

Inverse property: ae — =1, a Fo
Example: 8 ® % =1
CloSure: ab is a real number

£ e 3 = 18 is a real number

Distributive Property: a{b+c)= ab + ac
(this can be applied to poth multiplication and addition)

Example: 4(X +3) = (4de x) + (4 » 3N
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No"\' Y

1)

3)

5)

7)

NAME:

DISTRIBUTIVE PROPERTY PRACTICE #2

4x(x + 8) 2)  (2h(12 - 1)
@y - 29y 4)  (-29(x - 8)
(—9)(-'t - 3) | 6)  (6-3w)(w)
5( ' - 2g) | 8) (WM +Y)



Ndtes #ae

9.) y(1-y)

11) 5(w - 8)

13.) (12 - Xy

15.) ® - 6) (%)

12)

14)

16.)

10) (1 +2¢)8

(y + 19)7

4u+2)

() (t - 24)



Name: Class: Date: ID: A

Algebra II Chapter 1 Notes

1. Use areal number line to order the numbers: —% , % , 3, /5: ’ﬂ'
_{ i. ] L : - : : L I 1 }_
O

2. Evaluate 4v+ 6w forv=3 and w=-2.

3. Evaluate the power. (-3)°

z when z = -2,

4. Evaluate o1 4

5. Bvaluate 2a° + (2a)* when a =-2.

6. Tickets for a show cost $10 each. You have $105 to spend. Write an expression for the money you have left
after purchasing # tickets. Evaluate the expression to find the amount of money left after purchasing 8 tickets.

7. Solve the equation. 4(2x —3) = 6 — (3 — 2x)

u+v
vy

8. Solve for v in the equation # =



Convert the value into the given units.

9, 15 meters into centimeters 10.

Evaluate the power.

11, _g2 12. (-8)° 13. -10*

Simplify the expression.

15. 16¢ — 10d + 3d — 5¢ 16. 2m*

2.5 yérds into feet

14. (48

— 5n% + 6n* — 8m

17. 8(s—1) +16(E—3) . 18.  3(x%—y) + 9(x* + 2y)

19. Complete the table on properties.

Property Addition Multiplication
Closure ’ is a real number is a real number
Commutative atb= ab =
Associative (atb)ytc= (ab)e =
Identity a+0= asl=

ae

Inverse a-+

The following property involves both addition and multiplication.

Distributive alb+c)=



H. W

1.)

3.)

5.)

7))

NAME:

DISTRIBUTIVE PROPERTY PRACTICE #1

3(x + 4) 2) (w + 6)4
S5(y - 2) 4) (7 -my
-(y - 9) 6) -3(r+8)
-4(t - 8) 8) (x + 6)(-2)



"lw&!

9.)

11)

13)

15.)

X(x + 1)

-r(r - 9)

2(3x - 1)

(2x - 4) (:3)

10.)

12.)

14.)

16.)

G -vyy

-s(7 + s)

4 + 3y)5

-9(a + 6)



Advanced Algebra Name

Solving Eq uations

H (A) : Date Hour
| |

Practice Problems:

[ dx—12=12 2 10(4=2x)=80 3. %r+9=1
4 5 q+9=3 5. %(2+3)+7=22 6. 10x-2(x+5)=25
7.25x+5=10 g 3(x—2)=3x-6 9. Tn+9=44—6n

w3
=
+

10 3x-(x+2)=15 11 12. 4x+16=-5x—8



Hw

Algebra 11 Name
" Date Hour
1.1-13

Graph the numbers on a number |ine;.

5
1, *\/-7-,7'4-
| 1 1 1 [ 1 ] ] 1 1 1
4 |} 1 i [] 1 [} i 1 ] 1
0
2 11 7
z 3’ _4_, —7’ v—s_’ 2 )

1 | (| [ 1 (] ] !
[ L 4 i i i 1 i [} i

o

ot

Identify the property that the statement illustrates.
3. 3(9+4) =309 +34)
4. (-3+2)+6=-3+@2+6)

'Perform the indicated conversion. & 20001bs = | ton
5. 45yards to feet 6. 11,000 pounds to tons

Evaluate the power.
7. -5 ‘8. (—11)?
9. 7! 0. (-3)
Evaluate the exp:ression for the given value of the variable(s).
11. —5k+ 9whenk =2
12. (11—r° - 6s whenr = 8 and 5 = 2

Simplify the expression. . . '
13. 42 +9r— 57 +3r 14. 5 —2y) +93 — )

15. Tickets for a concert cost $25 each. You have $180 to spend. Write
an expression forthemoncythatycruhaveleﬁ after purchasing
t tickets. Evaluate the expression to find the amount of money left
after purchasing 6 tickets.



Algebra Il Name

Date Hour

Sections 1.3 1.5 |

Solve the equation.

Solve the equation for y. :

5. xy — Ty =49

Solve the equation for y. Then find the value of y for the given value of x.
6. 3% — 16y = 96;x = 15 7 By —xy=17;x= —4



Use the formula d = r¢ for the distance traveled to solve for the missing variables.

8. d= ,#¥=35mi/h,t=5h 9. d=520mi,r= ,t=8h

Look for a pattern in thé table. Then write an equation that represents the table.

0. %] o | 1|2 |3 1. (%] 0o | 1 [2]3
] 1500 | 1250 | 1000 | 750 '

—1110}11

12.  Arecent Daytona 500 race was won by Dale Earnhardt, Jr. He completed
the500 mile race in 3.2 hours. What was his average racing speed?

13. A scuba diver is returning to the surface from a depth of 165 feet. The safe
ascent rate for a diver is 30 feet per minute. How many minutes will it take
for the diver to return to the surface?

14.  You buy 15 articles of cléthing at a local clothing store. Each shirt costs $3
and each pair of pants costs $10. The total cost is $94. How many shirts and
hew many pants did you buy?

# pants =

# shirts = pants

shirts



Advanced Algebra Name

Date Hr

Section 1.6  Solving Linear Inequalities

j

YOU WILL NEED: - colored pencils

1. Shade the number line with a colored pencil to show x < 2.
Leave the dot for the endpoint open (not shaded) since x = 2
is not included in the solution.

2. Use a different color pencil to show x = —1 on the same
number line. Is — 1 included in the solution? Should the dot for
the endpoint be open or closed?

3. The solution to x < 2 and x = —1 is the part that is shaded
both colors. Describe the solution.

4. Is Oasolutiontox < 2and x = —1?Is —2 a solution?

5. The solution to x < 2 or x = — 1 is the part that is shaded either
color. Describe the solution.

Shade the number line and describe the solution to each

compound inequality.

6. x < —3andx < 1

A
\



NAME

Practice with Examples

For use with pages 41-47

DATE

Solve simple inequalities and compound inequalities

VYoCABULARY <

Inequalities such as x < 1 and 2n — 3 > 9 are examples of linear

inequalities in one variable. >

A solution of an inequality in one variable is a value of the variable that <

makes the inequality true. —

A compound inequality is two simple inequalities joined by “and” pd

or “or.”

The graph of an inequality in one variable consists of all points on a real

number line that corresponds to solutions of the inequality.

e Reverse sign when multiplying/dividing by a negative number.

Solving an Inequality with a Variable on One Side

Solve 3 — 2x = 5. Then graph the solution.

SOLUTION

3—-2x25 Write original inequality.

—-2x = 2 To isolate — 2x, subtract 3 from each side.
x<—1 Divide each side by —2 and reverse the inequality.

ey —————— Graph the solution.

-3 -2 -1 0 1 2
Exercises for EXAMPIE 1 | | .o
Solve the inequality. Then graph your solution.
1. —4x < —4 2.3x =2 —6 3. —2x>6

+ —> € y € >
4, —x— 1< —1 5. 6<3x—3 6. —5>2x+13
1-6  (2)

Algebra 2 Copyright © McDougal Littell Inc.
Practice Workbook with Exarmples ‘ Al rights reserved.




LESSON

NAME DATE
158 Practice with Examples

CONTINUED

For use with pages 41-47

Solving an Inequality with a Variable on Both Sides

Solve —n + 4 > —5n + 8. Then graph the solution.

SOoLUTION
—n+4>-5n+8 Write original inequality.
4dn + 4 > 8 To collect the variable terms, add 5n to each side.
4n > 4 Subtract 4 from each side.
n>1 Divide each side by 4.
B i R Graph the solution.

Exercises for EXample 2 | ..

Solve the inequality. Then graph your solution.

7.3x+5>x+7 8. —5x+9 < 2(x — 6) 9. —x< —4x+3

< y € > < -

QW IINEY Solving an “And” Compound Inequality

Solve —2 < 1 — 3x < 10. Then graph the solution.

SoLuTion

—2<1-3x<10 Write the original inequality.

—-3< —-3x <9 To isolate —3x, subtract 1 from each expression.
1> x >-3 Divide each expression by —3 and reverse the inequality.
g e e o Graph the solution.

B R S e 16 ()

Copyright © McDougal Littell inc.

All rights reserved. Algebra 2

Practice Workbook with Examples




LESSO
NAME DaTtE
E U | Practice with Examples
CONTINUED
For use with pages 41-47
Exercises for EXaMPIe 3 | ...

---------------------------------------------

Solve the inequality. Then graph your solution.

10. 4 <2x < 8 11.2<3—-x<8 12. ~4 <x+1<6

& > €

Solving an “Or” Compound Inequality

Solve 2x — 5 = 1 or 2x — 5 < —1. Then graph the solution.

SOoOLUTION OF

SOLUTIORN OF
SECOND INEQUALITY

FIRST INEQUALITY
2x — 521 Write first inequality. 2x — 5 < —1 Write second inequality.
2x > 6  Add 5 to each side. 2x < 4 AddS5 to each side.
x =3  Divide each side by 2. x < 2 Divide each side by 2.
B . s e n Graph the solutions.
o 1 2 3 4 5
Exercises for EXAMPIE 4 | | ...

...................................

Solve the inequality. Then graph your solution.

13.3x< -3 orx—120 14. 5x + 6 <11 or —3x < —12

V4 p4 _
¢ > & S
15. 4x — 3 > 9 or —2x > 2 16. x >0 or 5x —4 < —14
2 By
& > & >
1-6 4)
Algebra 2 Copyright © McDougal Littell inc.
All rights reserved.

Practice Workbook with Examples




Name

1-6  Advanced Algebra Pages 45-46

Solve the inequality. Then graph your solution.

29 33 — —-79 35 24-—x)>8
) %x_7<2 ) 47 —21x> ) 204-2x)

37) 2=x—-7=<11 39) —5=-n—-6=0 41) -T<6x—1<5

A x+2=50rx—4=2 45) —5x—4<—-14or—2x+1>11

Page 44 Example 7

You are a state patrol officer who is assigned to work traffic enforcement on a highway.
The posted minimum speed on the highway is 45 mph and the posted maximum speed is
65 mph. You need to detect vehicles that are traveling outside the posted speed limits.
Write these conditions as a compound inequality.

1-6 )






MName: Class: Date: ID: A

Algebya IT Worksheet 1-6

1. Connie takes at least 54 seconds to recite a poem. Write and graph an inequality to describe this interval.
e oo i
52 53 54 55 56 57

2. Tina can type at least 50 words per minute. Write and graph an inequality to describe this statement.
At ¥ ¥ ! Lame
40 50 60 70 80

3. Jack can run a mile in less than 7 minutes. Write and graph an inequality to describe this statement.

S
7’

2
N
6.8 7 72

4. The width, w, of a piece of wood ranges from 70 mm to 79 mm. Write and graph an inequality to describe
this interval. Does this graph represent a discrete or continuous data set?

44!!!!'.‘!!!!:!*
69 70 71 T2 73 14 75 76 TT 18 79 80

5. The cost of a-box of stationery ranges from $2.25 to $2.95. Write-and graph an inequality to describe this
statement.

ettt
220 240 260 280 300

6. The cost of a 5 pound bag of dog food ranges from $5.25 to $5.95. Write and graph an inequality to describe
this statement.

4+ttt
520 540 560 580 600

7. On aroad in the city of Hinkley, the maximum speed is 50 miles per hour and the minimum speed is 20 miles
per hour. If x represents speed, which sentence best expresses this condition?

a. 50<x<20
b. 50>2x<20
c. 50=2x2=>20
d. x-20<50



3)

9)

10)

Cal Ripken Jr. Cal Ripken Jr. played in major league baseball for over 20 years
with the Baltimore Orioles. The most home runs Ripken hit was 34 during the 1991
season. The fewest number of home runs he hit during a season was 13 in 1994,
Write an inequality that represents the various home runs Ripken hit during a season
in his career.

Moons of Jupiter Thanks to Galileo in 1610, we know that Jupiter has at least
4 moons orbiting its massive circumference. Recent discoveries indicate that
Jupiter actually has 63 moons although some may be asteroids trapped by the
planet’s intense gravity. Write an inequality that represents the various numbers
of moons of Jupiter since 1610.

Earth Temperatures The minimum and maximum surface temperatures on Earth
are —126°F and 136°F réspectively. Write an inequality that represents the various
surface temperatures on Earth.



Algebra IT : Name
Date Hour

Section 1.7  Solve Absolute Value Equations and Inequalities

Solve absolute value equations and inequalities and use absolute value
equations and inequalities to solve real-life problems

YocABULARY

The absolute value of a number x, written ]xl, is the distance the
number is from 0 on a number line. The absolute value of a number is
always nonnegative.

® Solving an Absolute Value Equation

Solve |%x + 5‘ =1.

SoLuTION

l%x + 5| =17 Write original equation.

%x +5=7 or %x +5=-7 Expression can be 7 or —7.
%x =2 or %x = —12 Subtract 5 from each side.
x=4 or x=—24  Multiply each side by {.

The solutions are 4 and —24.
When x = 4 |M4) + 5| = 7| =7
When x = —24: [K(~24) + 5| = |-7| = 7

......................................................................................................................................

Solve the equation.
1. |[r—8|=2 2. 2m+ 5] =9 3. |8 —3n| =16

E) Solving an Inequality of the Form |ax + b| < ¢

Solve |2x + 3| < 7.

SoLuTIiON
|2x + 3| < 7.  Write original inequality.
—-7T<2x+3 <7 Write equivalent compound inequality.
—10<2x< 4 Subtract 3 from each expression.
—5<x<2 Divide each expression by 2.

The solutions are all real numbers greater than — 35 and less than 2.



LESSON

NAME DATE
7 Practice with Examples
CONTINUED
For use with pages 50-56
Exercises for Example2 .. Componnd inequality and
Solve the inequality.
4. |x -5 <3 5. |2x + 1] <3 6. |10 — 4x| < 2

i -
y ¢ > & >
s Solving an Inequality of the Form |ax + b| > ¢
Solve |3t + 2| = 10.
SOoLUTION OF SOLUTION OF
FIRST INEQUALITY SECOND INEQUALITY
%t +2<—10 Write inequality. %t +2210
%t < -12 Subtract 2 from each side. %t > 8
r< —18 Multiply each side by 3. £ 12

The solutions are all real numbers less than or equal to — 18 or greater
than or equal to 12.

Exercises for Example 3 Compownd QL
Solve the inequality. :
7. ly+ 3| > 5 8. |x—4| 214 9. |4n + 7| > 1

< > ¢ > — —

V Copyright © McDougal Littell inc. ‘)
o . - All rights reserved. \"7 sz



Algebra I 1-7 Absolute Value
Example Solve |x - 5| =17

f; s <L 6 | 2 3 4 5 6 5 § 9 to U 212"
Solve the equation. )
10) |30 - 72| = 4 1) |Ze+2| =10
Remember greater than or equal to

greater
less than or equal to
less than

Selve the inequatity. Then graph the solution.
12) g —3n| =18 13)  |3x+2] <7




Solve the inequality. Then graph the solution.

4) -1 =12 15)  |4n—12]| > 16

é; ¥ }
| > > &— A

16)  |x+1] <38 17y |x—8] =5
L N [
< A > & é

18) |14 — 3x| > 18 19)  |8x+28] =32
& { > : \



Advanced Algebra Name

Date Hour

Problem Solving

1)

2)

3)

A student has a debit card with a prepaid amount of $270 to use for
school lunches. The cafeteria charges $4.50 per lunch. Write an
expression for the balance on the card after buying x lunches. How
many lunches can the student purchase?

The bill for the repair of your bicycle was $180. The cost of parts was
$105. The cost of labor was $25 per hour. How many hours did the
repair-work take?

You have two summer jobs. In the first job, you work 25 hours per
week and earn $7.75 per hour. In the second job, you earn $6.25 per
hour and can work as many hours as you want. Your goal is to earn
$250 per week. How many hours must you work at the second job?



4)

5)

6)

The formula for converting temperatures from degrees Celsius to
degrees Fahrenheit is F = %C +32. Solve the formula for C. Then

find the temperature in degrees Celsius that corresponds to 50 degrees
Fahrenheit.

You have a piece of wood that is 72 inches long. You cut the wood
into three pieces. The second piece is 6 inches longer than the first
piece. The third piece is 6 inches longer than the second piece. Draw
a diagram, then write and solve an equation to find the length of the
three pieces.

A moving company weighs 20 boxes you have packed that contain
either books or clothes and says the total weight is 404 pounds. You
know that a box of books weighs 40 pounds and box of clothes
weighs 7 pounds. Write and solve an equation-to find how many
boxes of books and how many boxes of clothes you packed.

Let x = #boxes of books

Books

Clothes
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Algebra II Name

Section 2.1 Date Hr

Relations and Functions

Goal: Represent relations and functions, graph and evaluate linear functions.

Plotting Real Numbers on a Coordinate Plane in the form x ¥)-

The first value in an ordered pair is the

It moves the point . The second value in an ordered

pair is the . It moves the point

Create a coordinate plane (using a straight edge) by creating a perpendicular
intersection of two real number lines.
Label:
e The x- and y-axes
o The quadrants formed by the intersection
e The sign of the ordered pairs plotted in those quadrants,
for example ( +, -)




A relation is a mapping, or pairing, of input and output values.
The set of input values is the domain, and the set of output values is the range.

The input variable is called the independent variable.
The output variable is called the dependent variable.

A relation is a function provided there is exactly one output for each mnput.
It is not a function if an input has more than one output.

A graph must pass the vertical line test in order to be considered a function.
Points cannot be stacked on top of each other.

Identify the domain and range. Decide whether the relation is a function.

1. INPUT OUTPUT 2. INPUT OUTPUT
-2 4 -3 — -4
-1///{ 5 -2 / -2
5 —» 9 7 10

D={ }  Function D={ } Function

R ={ } yes or no R={ } yes or no

A ' N |

~

A\
'
[ N




3. Consider the relationship between the time and the temperature.
Assume that the temperature starts at 10°C at 8 a.m. and rises 2°C every
hour over the next 5 hours of the day.

a) Find the temperatures during the next 5 hours.

8 am. (t=0)

9 a.m. Does the temperature depend on the
10 a.m. time of day? Or does the time of
11 am. day depend on the temperature?

12 p.m. Decide if time, £, or temperature, 7, is
1 pm. the independent variable.
Independent Variable

Dependent Variable

b) Label the axes. Decide on the scale of the axes. Plot the values.
Draw a line of best fit.

¢) Ift =0 when it is 8 a.m., write an equation that represents the line of best
fit. (Find the slope and the y-intercept.)

Equation:




4. a) Plot the given ordered pairs: (0,8), (1,1 0), (2,10), (3,1 1), (4,1 3), (5,1 3)

b) Label the x-axis, t, hours since 8 a.m. and label the y-axis temperature, T. ( °C)
Draw a line of best fit, write the equation of the line.

AENENERNEN r

H 7

T4 |

10 | ~ Equation:

[:;-I.’
LI O T

!
N ; 1 ‘ |
2 Y o

¢) Describe what the value of the ordered pair (2,10) is telling you in
relation to the variables.

d) Now plot the ordered pair (2, 11). Describe the temperature when t = 2.

Using Function Notation

Decide if the given function is linear. Evaluate the value of the functions for the
given value of x.

4
5. f(x)=x3+7;x=—2 6. f(x)=——3—x+5;x=6

7. f(x)=7—%x;x=12 8. f(x)=|x+2|-3;x=-6



2.1 Practice B Name Date

Identify the domain and range of the given relation.
Then tell whether the relation is a function.

1. 0.3),(1,1),(22),6,4,42) 2. (=2,-3(1-1,0,1,0,3),15)
D D:

R: R:

Use the vertical line test to determine whether the relation is a function.
3. \ y f 4. y ' 5. Iy
1 1 - —1
T -~
x P13 x x

Glraph the equation.

6. y=3x+2 7. y=-2x-2 8. y=—x
y 'y T
1 1 1
X X X
9. y=—x+3 10. y=%x+2 . 11. y=2x—35
y y y
1 ‘ 2
1 X X
X
12. y=x+2 13. y=—1 14. y=-—7x—1




Toll whether the function is linear. Then evaluate the function for the 2 . , g
given value of x.

15. f{x) = x + 5; f(~2) 16. f(x) = ¥+ x — 2,/(1) 17. f(x) =3 = 3%, /(2)
@) =[x+ 2|5 -4 19. /) = =25 /(6) 20. f(x) =%x — 5; f09)

In Exercises 21-23, use the following information.

PGA Money List The table below shows the top five players on fhe 2005 PGA Tour
moneéy list through June 5th along with the number of wins for each player.

Vijay Singh | Phil Mickelson | Tiger Woods | David Toms | Kenny Perry
3 3 3 1 2

5.3 . 42 4.1 3.3 25 . ;

21. What is the domain of the relation?
22. What is the range of the relation?

23. Is the amount of money earned a function of the number of wins?

In Exercises 24-26, use the follov_ving information.

Furniture Assembly At the beginning of your 8 hour shift, there were 42 units of
furniture that needed assembled. The number of units # that still need to be assembled
during your shift can be modeled by n(f) = —3¢ + 42 where ¢ is the time in hours.

24. Graph the model.

45
40
35
30 F
25
20
156
10

Units

012345¢67829!¢
Hours

-25. What is a reasonable domain and range of the model?

26. How many units still need to be assembled after you have worked 5 hours of ' ' ‘
~ your shift?



Algebra II Name

Date

Hour

Equation Solving, Proportional Equations

Solve each equation.

0 0 T %
g 10 5 3
3.2 % 4 1.8
6 10 n 7
5. 4.8 6. 1 =190
3 x b+5 5
7—§—-=—9- 8_:4;_=_8_
b-1 7 m-1 2
o 5_Tn+9 1o A r-3
6 5 9 6




17.

19.
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12.

14.

16.

18.

20.
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S
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(@)

S
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x|l o

w N

n+4
n—4
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Algebra ll Name

Worksheet 1.6 - 1.7 Date Hour

Graph the inequality.

. x>6

2, ~2$x<5

3, x<—3orx27
) 2 4 ! 1 1

‘:g‘é"‘;"i‘é‘; o1 2 3 é‘A';?ﬂi 10 11 42

Solve the inequality. Then graph the solution.

C 4, —x+5<12 B. 3(x—5)S7— 3
[ AR Y N NN N WO A | [N DO TR N JURON SN UUOOOS WO |
=TT T T T T T T T T

o) “c1 01 L3 Y567

-8 —25ix-2<3 | 7. zx—6<4ardxr-6>6
LR TN T, RN TR N NSNS SO —d L
S S N IR SN N S N T T T
(& @ §101520%530 38 ot 23v567§



Worksheet 1.6—-1.7  (page 2)

Evaluate the expression for the given value of the variable.

8 |w—15|;w=-2

~ Solve the equation. Two answers!!!

10. |g-13| =5 11.

Solve the inequality. Then graph the solution.

12. |x—9]|=26 13,

|Lx—4| =12

l4x — 5] <15

9. |4—~5x|;x=9

.
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